V-SEAL(NER)

BACK RING[POM)
LOCK CLAW(SUS)
COLLAR [ZINQ)
RELEASE SLEEVE (POM)

CASE(PET)

O-RINGINBR)

FEATURES

© One-Touch push-to-connect conflguration allows an instant tubing connection.

o Smoth-Edge release sleeve design facilitates a quick tubing disconnection.

o we can make both Brass or Nickel plated color. Nickel plated ensures anti-contamination properties for an extended product life.

o Pre-applied sealant on all external threads eliminates the additional sealing requirement.

SPECIFICATIONS

Applicable Fluid Type in u ve Pressure i erature Range anded Tubings
Air, Water(No Drinking Water) 20.5in Hgi-14ps) 23~140F(Air) 32~104F (Water) PA11, PA12, PAG, PE, PUFEPPFA
750mmHg(-750Torr) -5~GOF(Air) 0~40°F(Water)

-0.99~9.9Kgf/m¥("-09~090Kpa)

IDEAL BELL Push-To-Connect Fittings

These fittings are suitable for both pneumatic and vacuum application.
Apply different colors: Black/Grey body, Blue/Black/Grey/Green/Orange/Red Sleeve Button.
Apply different thread: BSPT,BSPPNPT, Metric.

PL

Male Elbow
L BSMBards L

PL4-M5
PL4-M6
PL4-01
PL4-02
PL6-M5
PLE-M6
PLE-D1
PLE-02
PLE-03
PLE-04
PL8-01
PL8-02
PL8-03
PL8-04
PL10-01
PL10-02
PL10-03
PL10-04
PL12-01
PL12-02
PL12-03
PL12-04
PL16-03
PL16-04

PLF

Female Elbow
L Bpyigards sk

PLF10-01
PLF10-02
PLF10-02
PLF10-04
PLF12-01
PLF12-02
PLF12-02
PLF12-04
PLF16-03
PLF16-04

PHF

Female Banjo

BB

PHF4-M5
PHF4-Mé
PHF4-01

PHF4-02
PHF6-M5
PHF6-M6
PHF6-01

PHF6-02
PHF6-03

PHF6-04

PHFE-01

PHF8-02
PHF8-03

PHF8-04

PHF10-01
PHF10-02
PHF10-03
PHF10-04
PHF12-01
PHF12-02
PHF12-02
PHF12-04
PHF16-03
PHF16-04

L L T R - - NS

=

10

L L T T - - A

=

10

I - T T T = R

= Y . P, PR P
Z NN RNGSS S D

M6x1.0
8
14
38
12
8
14
38
"7
8
14
38
12
8
14
38
1”2
38
12

M6x1.0
8
14
38
12
8
14
38
n”
8
14
3/8
07
8
14
38
"
38
"

M5:8
Méx1.0
18
14
38
12
18
14
3/8
1172
18
14
38
12
18
14
38
117
38
112

PL5/32-U10
PL5/32-N07
PL5/32-N02
PL1/4-NO1

PL1/4-N02
PL1/4-N03
PL1/4-NO4
PL5/16-N01
PL5/16-N02
PL5/16-N03
PL5/16-N04
PL3/B-NO1

PL3/B-N0O2
PL3/B-NO3
PL3/B-NO4
PL1/Z-NOT

PL1/2-NO2
PL1/2-N03
PL1/Z-NO4

PLF5/32-U10
PLF5/32-N01
PLF5/32-N02
PLF1/4-N01
PLF1/4-N02
PLF1/4-N03
PLF1/4-N04
PLF5/16-NO1
PLF5/16-N02
PLF5/16-N03
PLF5/16-N04
PLF3/8-N01
PLF3/8-N02
PLF3/8-N03
PLF3/8-N04
PLF1/2-N01
PLF1/2-N02
PLF1/2-N03
PLF1/2-N04

PHF5/32-U10
PHF5/32-N01
PHF5/32-N02
PHF1/4-NO1

PHF1/4-N02
PHF1/4-N03
PHF1/4-No4
PHF5/16-N01
PHF5/16-N02
PHF5/16-N03
PHF5/16-N04
PHF3/8-NO1

PHF3/8-N02
PHF3/8-N03
PHF3/8-N04
PHF1/2-NO1

PHF1/2:N02
PHF1/2-N03
PHF1/2-ND4

@D

516
516
516
5116

aD

PLF-N
Tube Size|

5116
516
516
516

i

a4

T

) | Thread{R/G)

UNF 10/32
NPT 1/8
NPT 1/4
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT1/2

UNF 10/32
NPT1/8
NPT 1/4
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2

UNF10/32
NPT1/8
NPT 1/4
NPT1/8
NPT 1/4
NPT3/8
NPT1/2
NPT1/8
NPT 1/4
NPT3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT3/8
NPT1/2
NPT1/8
NPT 1/4
NPT 3/8
NPT 1/2

PT

Male Branch Tee
IMERE=E

PT4-M5
PT4-M6
PT4-01

PT4-02
PT6-M5
PTe-M6

PT8-03
PT8-04
PT10-01
PT10-02 10
PT10-02 10
PT10-04 10
PTIZ-M 12
PT12-02 12
PT12-03 12
PT12-04 12
PT16-03 16
PT16-04 16

L T T R R A

=

PTF

Female Branch Tee

MIRLTIE =i

4
4
4
4
PTF6-M5 6
PTF6-M6 6
PTF6-01 6
PTF6-02 6
PTFe-03 6
PTF6-04 6
PTF8-01 8
PTF8-02 8
PTF8-03 8
PTFS-04 8
PTF10-01 10
PTF10-02 10
PTF10-03 10
PTF10-04 10
PTF12-01 12
PTF12-02 12
PTF12-03 12
PTF12-04 12
PTF16-03 16
PTF16-04 16
PKD
Male Reducer Triple Branch
BamERB

M6x1.0
8
/4
38
2
.
14
s
172
8
14
/8
2
s
14
LS
172
s
2

M5x8
Méx1.0
1/8
/4
38
12
/8
/4
38
12
1/8
/4
3/8
12
/8
/4
38
12
3/8
12

PT5/32-U10 532
PT5/32-N01 532
PT5/32-N02 532
PT1/4-N01 14
PT1/4-N02 14
PT1/4-N03 114
PT1/4-N04 14
PT5/16-N01 516
PT5/16-N02 516
PT5/16-N03 516
PT5/16-N0O4 5116
PT3/8-NO1 3/
PT3/8-N02 3/
PT3/8-NO3 3/
PT3/8-N04 3/8
PT1/2-N01 12
PT1/2-N02 12
PT1/2-N03 12
PT1/2-N04 12
2D
PTF5/32-U10 5/32
PTF5/32-N01 5/32
PTF5/32-N02 5/32
PTF1/4-N01 1/4
PTF1/4-N02 1/4
PTF1/4-N0O3 1/4
PTF1/4-N04 1/4
PTF5/16-N01 5/16
PTF5/16-N02 516
PTF5/16-N03 516
PTF5/16-N04 516
PTF3/8:N01 3/8
PTF3/8-N02 3/8
PTF3/8-N03 3/8
PTF3/8-N04 3/8
PTF1/2-NO1 1/2
PTF1/2-N02 12
PTF1/2:N03 12
PTF1/2-N04 1/2

em

1l )
UNF10/32
NPT 1/8
NPT 1/4
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2

UNF 10/32
NPTF 1/8
NPTF 1/4
NPTF1/8
NPTF 1/4
NPTF 3/8
NPTF 1/2
NPTF 1/8
NPTF 1/4
NPTF 3/8
NPTF1/2
NPTF1/8
NPTF 1/4
NPTF 3/8
NPTF 1/2
NPTF 1/8
NPTF 1/4
NPTF3/8
NPTF1/2

@02

Iter

PKD&-4-01
PKD8-4-02
PKD8-6-02
PKD10-8-03
PKD12-10-04

PKD1/4-5/32-N01
PKD5/16-5/32-N02
PKD5/16-1/4-N02
PKD3/8-5/16-N03
PKD1/2-3/8-N04

516
516
8
12

5/32
/4
5/16
38

NPT 1/4
NPT 1/4
NPT 3/8
NPT1/2

PLL

Extended Male Elbow en "

L EUSMEGUE L fidE ) T
PLL4-M5 4 UNF10/32
PLL4-M6 4 PLL5/32-N01 5132 NPT /8
PLL4-01 4 PLL5/32-N02 532 NPT 114
PLL4-02 4 PLL1/4-NO1 1M NPT 1/8
PLLE-M5 6 PLL1/4-N02 14 NPT 1/4
PLLE-M6 6 M6x1.0 PLL1/4-N0O3 14 NPT 3/8
PLL6-01 6 8 PLL1/4-N04 14 NPT 1/2
PLL6-02 6 4 PLL5A6-NOT 5116 NPT 1/8
PLL6-03 6 ] PLL5/16-N02 5116 NPT 1/4
PLL6-04 6 12 PLL5/16-N03 5116 NPT 3/8
PLLB01 ] 8 PLL5/16-N04 5116 NPT 112
PLLB-02 8 14 PLL3/8-NO1 38 NPT /8
PLLB-03 8 38 PLL3/8-NO2 /g NPT 1/4
PLLB-04 8 2 PLL3/B-NO3 3/8 NPT 3/8
PLL10-01 10 8 PLL3/B-NO4 38 NPT 1/2
PLL10-02 10 4 PLL1/2-N01 173 NPT 1/8
PLL10-03 10 ] PLL1/2-N02 n” NPT 1/4
PLL10-04 10 12 PLL1/2-N0O3 12 NPT 3/8
PLL12-01 12 8 PLL1/2-N04 112 NPT 112
PLL12-02 12 14
PLL12-03 12 38
PLL12-04 12 2
PLL16-03 16 8
PLL16-04 16 2

PWT T

2D

) PWTS/32-U10 UNF 10/22
4 M6x1.0 PWTS/32-N0 NPT 1/8
4 8 PWT5/32-N02 NPT 1/4
4 /4 PWT1/4-N01 NPT 1/8
6 M5x8 PWT1/4-N02 NPT1/4
6 M6x1.0 PWT1/4-N03 NPT 3/8
6 18 PWT1/4-N04 NPT1/2
6 14 PWTS/16-NOT 5116 NPT1/8
6 38 PWT5/16-N02 5/16 NPT 1/4
6 12 PWT5/16-N02 5/16 NPT 3/8
8 8 PWT5/16-N04 5/16 NPT1/2
8 /4 PWT3/8-N01 8 NPT 1/8
8 38 PWT3/8-N02 8 NPT 1/4
8 12 PWT3/8-N03 ET NPT 3/8
10 18 PWT3/8-N04 e NPT1/2
0 14 PWT1/2-N0 12 NPT /8
10 38 PWT1/2-N02 12 NPT 1/4
10 12 PWT1/2-N03 102 NPT 3/8
12 8 PWT1/2-N04 12 NPT 1/2
12 /4

12 38

12 12

16 3/8

16 12

PKB

Reducer Tube Splicer
BRI

PKB4-M5
PKB4-M&
PKB4-01
PKB4-02
PKB6-M5
PKBe-M&
PKB&-01
PKB6-02
PKB6-03

(N N I S

PUL

Union Elbow
B|REL

Mex1.0

14
3/8

PKBG6-04
PKB8-01
PKB8-02
PKB8-03
PKB8-04
PKB10-01
PKB10-02
PKB10-03
PKB10-04

@D

PULS/32
PULT/4
PULS/16
PUL3/8
PUL1/2

12
/8
/4
3/8
2
/8
/4
38
12

PST

Male Run Tee
ShEL =i

4
4
4
4
6
6
6
6
6
6
8
8
PsT8-03 8 38
PSTB-04 8 12
PST10-01 10 1/8
PST10-02 10 1/4
PST10-03 10 38
PST10-04 10 2
PST12-0M 12 8
PST12-02 12 /4
PST12-03 12 38
PST12-04 12 12
PST16-03 16 38
PST16-04 16 12
PH
Male Banjo
a7 AREk

4
4 |
4 /8
4 /4
6 M5x8
6 Mex1.0
6 8
6 /4
6 38
6 12
8 /8
8 /4
8 38
8 2
PH10-01 10 8
PH10-02 10 /4
PH10-03 10 3/8
PH10-04 10 2
PH12-01 12 /8
PH12-02 12 /4
PH12-03 12 38
PH12-04 12 2
PH16-03 16 38
PH16-04 16 2

PMM
Bulkhead Union
Rl i
PMM4 4
PMMé
PMM8 8
PMM10 10
PMM12 12
PMM16 16
PUT
Union Tee
BHIE=R
PUT4 4
PUTE 6
pPUTB B
PUT10 10
PUT12 12
PUT16 16

PST5/32-U10
PST5/32-N01
PST5/32-N02
PST1/4-N01

PST1/4-N02
PST1/4-N03
PST1/4-N04
PST5/16-N01
PST5/16-N02
PST5/16-N03
PST5/16-N04
PST3/8-N01

PST3/8-N02
PST3/8-N03
PST3/8-N04
PST1/2-N01

PST1/2-N02
PST1/2-N03
PST1/2-N04

PH5/32-U10
PH5/32-N01
PH5/32-N02
PH1/4-NO1

PH1/4-NO2
PH1/4-NO3
PH1/4-NO4
PH5/16-N01
PH5/16-N02
PH5/16-N03
PH5/16-N04
PPH3/8-NO1

PPH3/8-N0D2
PH3/8-NO3
PH3/8-NO4
PH1/2-NO1

PH1/2-N02
PH1/2-NO3
PH1/2-ND4

PMM5/32
PMM1/4
PMM5/16
PMM3/8
PMM1/2
PMM16

PUTS/32
PUT1/4
PUTS/16
PUT3/B
PUT1/2

UNF10/32
NPST 1/8
NPST 1/4
NPST 1/8
NPST 1/4
NPST 3/8
NPST 1/2
NPST 1/8
NPST 1/4
NPST 3/8
NPST 1/2
NPST 1/8
NPST 1/4
NPST 3/8
NPST 1/2
NPST 1/8
NPST 1/4
NPST 3/8
NPST 1/2

UNF 10/32

NPT 1/8
532 NPT 1/4
14 NPT1/8
14 NPT 1/4
14 NPT 3/8
14 NPT 1/2
5116 NPT 1/8
5/16 NPT 1/4
516 NPT 3/8
5/16 NPT 1/2
38 NPT1/8
38 NPT 1/4
38 NPT 3/8
38 NPT 1/2
12 NPT 1/8
102 NPT 1/4
102 NPT 3/8
102 NPT 1/2

Size (INCH)

5/16
38
12

PC

Male Straight
EHEE

PCF

Female Straight
PIRE A

PCF8-01

PCF8-02

PCr8-03

PCr8-04

PCF10-01
PCF10-02
PCF10-03
PCF10-04
PCF12-01
PCF12-02
PCF12-03
PCF12-04
PCF16-03
PCF16-04

T

T
oo NN NR 2222

Méx1.0

04
38
12

/4
3/8
12

14
3/8
112

14
3/8
172
3/8
12

M5x8
Méx1.0

14
38
12

14
3/8
1/2

14
38
12

114
3/8
1/2
3/8
/2

Iter

PC5/32-U10 UNF10/32

PC5/32-N01 5032 NPT1/8
PC5/32-N02 5/32 NPT 1/4
PC1/4-NO1 /4 NPT 1/8
PC1/4-N02 /4 NPT 1/4
PC1/4-N03 /4 NPT 3/8
PC1/4-NO4 /4 NPT 1/2
PC5/16-NO1 5/16 NPT1/8
PC5/16-N02 5/16 NPT 1/4
PC5/16-N03 516 NPT3/8
PC5/16-N04 5/16 NPT 1/2
PG/8-NO1 38 NPT 1/8
PG/8-NO2 38 NPT 1/4
PG/8-ND3 38 NPT 3/8
PG/8-NO4 38 NPT 1/2
PC1/2-N01 2 NPT1/8
PC1/2-N02 12 NPT 1/4
PCI/2-N0D3 2 NPT 3/8
PCI/2-NO4 2 NPT 1/2
qF
eD

PCF5/32-U10
PCF5/32-N01
PCF5/32-N02
PCF1/4-NO1

PCF1/4-N0D2
PCF1/4-ND3
PCF1/4-N04
PCF5/16-NO1
PCF5/16-N02
PCF5/16-N03
PCF5/16-N04
PCF3/8-NO1

PCF3/8-ND2
PCF3/8-N0D3
PCF3/8-ND4
PCF1/2-NO1

PCF1/2-N02
PCF1/2-N03
PCF1/2-N04

Thread |
UNF10/32

NPT 1/8
NPT 1/4
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT1/8
NPT 1/4
NPT3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT3/8
NPT1/2

POC

Round Male Straight
ERREE

4

4

4

4

6
POC6-M& 6
POCe-01 6
POCe-02 6
POCe-02 6
POCe-04 6
POC3-01 8
POCa-02 8
POCa-03 8
POCa-04 8
PoCio-01 10
PoCi0-02 10
POCI0-03 10
POC10-04 0
PoC12-01 12
PocCi2-02 12
PoCi2-03 12
PoCi2-04 12
POC16-03 16
POC16-04 16

PMF

Bulkhead Female Straight
PR AIRL R

PMF4-M5 4
PMF4-Me 4
PMF4-01 4
PMF4-02 4
PMF&-M5 6
PMF6-M6 6
PMFe-01 6
PMFe-02 6
PMFe-03 6
PMFe-04 6
PMF8-01 8
PMF8-02 8
PMF8-03 8
PMF8-04 8
PMF10-01 10
PMF10-02 10
PMF10-03 0
PMF10-04 10
PMF12-01 12
PMF12-02 12
PMF12-03 12
PMF12-04 12
PMF16-03 16
PMF16-04 16

M5x8
Méx1.0

14
38
12

14
3/8
12

14
3/8
112

104
3/8
1/2
3/8
12

M5x8
Méx1.0

04
38
12

/4
3/8
172

114
38
/2

114
3/8
1/2
3/8
12

POGS/32-U10
POC5/32-N01
POC5/32-N02
POC1/4-N01

POC1/4-N02
POC1/4-N03
POC1/4-NO4
POC5/16-N01
POC5/16-N02
POC5/16-N03
POC5/16-N04
POC3/8-NO1

POC3/8-N0Z
POC3/8-NO3
POC3/8-ND4
POC1/2-NDT

POC1/2-N02
POC1/2-N03
POC1/2-N04

PMF5/32-U10
PMF5/32-N01
PMF5/32-N02
PMF1/4-N01

PMF1/4-N02Z
PMF1/4-N03
PMF1/4-N04
PMF5/16-N01
PMF5/16-N02
PMF5/16-N03
PMF5/16-N04
PMF3/8-NO1

PMF3/8-N02
PMF3/8-N03
PMF3/8-N04
PMF1/2-N01

PMF1/2-N0Z
PMF1/2-N03
PMF1/2-N04

PUSH TO
CONNECT
FITTINGS
RIGS
s &k

@D

|
UNF 10/32
NPT /8
NPT 1/4
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2

UNF10/32
NPT1/8
NPT 1/4
NPT 1/8
NPT 1/4
NPT 3/8
NPT1/2
NPT1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT 1/4
NPT 3/8
NPT 1/2
NPT 1/8
NPT1/4
NPT 3/8
NPT1/2




- o0 o POLYURETHANE (PL TUB
PUC = PG HVC HVE HVM : HVU MPC MPL
3 PU-0320 3mm 2mm 200m/roll 3.17mm 2mm 200mfroll
Union Straight Reducer Siraight A Staight B Nipple ' Union Straight ; PU-0425 4mm 2.5mm 200m/roll PUS/32" 3.97mm 25mm 200m/roll
ERER HEEE EEWASE oD BOEHSY @D EEEY & P i \ PU-0640 6mm 2mm 200m/roll PU3/16" 4.76mm 32mm 200m/roll
PU-0850 Bmm 5mm 100m/roll PU1/4" 6.35mm 4.23mm 200m/roll
ube ) ltem Code ube Size INCH) z 1) Tube SizeTNCH) | Tube Size 2INCH Item Code ze (M) ) PU-0855 Bmm 5.5mm 100mroll PUS/16" 7.94mm Smm 100miroll
PUCH PGE4 6 4 PG1/4-5/32 HVCG-01 6 RIS HVF6-01 Item Code HVUD6-06 Item Code ) ltem Code PU0860 Bmm &mm 100m/rll PU/E" 9.52mm 635mm 100miroll
PUCG 6 PUCS/32 532 PGB-4 8 5 PGES/16-1/4 HVCE-01 6 R1/8 HVF6-02 HVMO1-01 R1/8 HVU0B-06 8 MPC4-M5 MPC5/32-U10 532 UNF10/32 MPL4-M5 4 UNF10/32 PU-1065 10mm 6.5mm 100m/roll pU1/2" 12.7mm 8.46mm 100m/roll
PUCB 8 PUGS/22 532 PGE-6 8 6 PG3/8:5116 HVCG-01 6 RIS HVF6-03 HYMOZ-01 R1/4 HVUD8-08 3 MPC4-M6 MPG/32-N01 532 NPT 1/8 MPL4-M6 4 MEx1.0  MPLS/32-NOT 532 NPT 1/8 PUA080. e amm J00miroll pUS/E" 15.9mm prv— J00mirell
PUCIO 10 PUCS/R2 5122 PG10-6 10 6 PG1/23/8 HVCE-01 6 R1/8 HVFB-1 HYMO2-02 R1/4 HVU10-08 0 MPC4-01 MPC5/32-N02 532 NPT 1/4 MPL4-01 4 18 MPLE/32-N02 532 NPT 1/4 LT e e J00miroll
PUCI2 12 PUCSR2 532 PG10-8 10 8 HVCE-01 6 R18 HVFB-02 HVMO3-02 R3/8 HVU10-10 10 10 MPC4-02 MPCI/4-N01 14 NPT 1/8 MPL4-02 4 14 MPLY/4-NOT 4 NPT 1/8 R rym— prem 100m/roll
1/8 PUCIE 16 PG12-10 2 10 HVCE-01 6 R1B HVFB-03 HVMO3-03 R3/8 HVU12-10 12 10 MPC6-M5 MPC1/4-N02 14 NPT 1/4 MPL6-M5 6 M5x8 MPLY/4-NO2 4 NPT 1/4 TIATER - P 100m/roll
HVCE01 6 R1/8 HVE0-02 HMO4.03 R1/2 W22 12 12 MPCE-M6 MPC1/4-N03 14 NPT 3/8 MPL6-M6 6 Méx1.0 MPL1/4-NO3 4 NPT 3/8 TR 16mm 13mm 200miroll
PKG @D PK HVCG-01 6 RS HVFI0-03 HVMO4-04 R1/2 MPCE-01 MPC1/4-N04 14 NPT1/2 MPLG-01 3 18 MPL1/4-No4 4 NPT 112
HVCG-01 6 RS HVFI0-04 MPCG-02 MPCS/16-N01 5116 NPT 1/8 MPLG-02 6 174 MPL5/16-ND1 516 NPT 1/8
HVC6-01 6 R1/8 HVF12-02 MPC6-03 MPC5/16-N02 516 NPT 1/4 MPL6-03 6 3/8 MPL5/16-N02 516 NPT 1/4 NYLON (PA] TUBING
R e Banch Unin Tl Barh rion s we inre = e TN TR 7
BETERE oD2 HVCE-01 6 RIB HVFI2-04 MPCE01 MPG/16-N04 516 NPT 112 MPLE-01 3 18 MPLS/16-N04 5/16 NPT 112 e b e T ] a0 o— — T
T e Ll MECIEAT e NEL1/6 PR l " MPL3/8-NOT 38 NPIE NYS/16" 7.9mm 59mm 100mjroll NY-0425 4mm 25mm 200miroll
) MPCE-03 MPG/a-N02 8 NPT 1/4 MPLS-03 8 38 MPL3/3:N02 38 NPT 1/4 .
BEGIRGAE IsC PA MPCB-04 MPC/B-NO3 8 NPT /8 MPLE-04 8 112 MPL3/8-N03 El] NPT 3/8 i/ o e tetnpl il i i 2ot
PKGS/16-5/32 MPC10-01 10 18 MPCI/B-ND4 8 NPT1/2 MPL10-01 10 18 MPL3/8-N04 38 NPT 112 NWZ« el i bl V050 S A e
R s MPC10-02 10 174 MPC1/2-N01 112 NPT 1/8 MPL10-02 10 114 MPL12-NO1 ] NPT 1/8 N Ladmm 1oy el o860 i e el
SRS el e MPCI0-03 10 8 MPC1/2:N02 12 NPT 1/4 MPL10-03 10 38 MPL1/2-N02 "2 NPT 1/4 o Tomm 7smm Toomrel
R e il L il 20 NY-1080 10mm gmm 100m/roll
MPC10-04 10 12 MPCI/2:N03 12 NPT 38 MPL10-04 10 1n” MPL/2-NO3 172 NPT 3/8 e J2mm e 200mirall
MPCI2:01 12 18 MPCI/2-N04 12 NPT1/2 MPL1Z-01 12 18 MPL/2-NO4 12 NPT 172
G i 0 ftemifore WPCI2-02 12 14 MPL12-02 12 14 N1 A e S mmf":'
4 SRR L 1722 MPC12:02 12 e MPL12-02 12 T ::: :::; :::mm ::;mm :m;m"
PG) Dl PLJ 15C4-M6 4 MEx1.0 JSC5/32-N01 532 NPT1/8 TR o " v - " IR 16:: 12:: m:f:"
15¢4-01 4 /8 1SC5/32-N02 5/32 NPT 1/4 PA10 10 PA3/B 3/8
15C4-02 4 /4 1SC1/4-NDT 14 NPT 1/8 PA12 12 PA1/2 12 NY-1815 18mm 15mm 50m/roll
Plug-In Reducer Plug-In Elbow 15C6-M5 6 M58 15C1/4-No2 1/4 NPT1/4 PAT6 16
ey iy oML, |SC6-M6 6 MEx1.0 1SC1/4-NO3 i NPT /B MPT MPST -
15C6-01 6 8 ISC1/4-ND4 14 NPT1/2
/ \ E 150602 6 14 JSC5/16-NO1 516 NPT1/B ~
| 2 PGI1/4.5/32 15C6:03 6 ET JSC5/16-No2 516 NPT 1/4
8 5 PGISAE-1/4 PLIA L 150604 6 12 ISC5/16-N03 516 NPT 3/8 1
_ il B GHEMEALR RUEIE Zil3 15801 8 18 ISC5/16-N04 516 NPT1/2
1/4 - - A e Ll - ik - 1502 8 " 50 s KPT g € , — Available Colors: (Blue)(Clear)(black)(Red)(Orange)(Green). ...
117238 12 318 PUI2 2 PLI/2 172 R . T e o T ) e Thread(R/G)
12 8 PUCIG 6 T s e SN 208 NPT 28 MPT4-M5 4 MPTS/32-UT0 5/32 UNF 1022 MPST4-M5 4 M5x3 MPSTS/32-U10 532 UNF10/32
PGI12-10 12 10 S o e A - N TR MPT4-M6 4 MPT5/32:N01 532 NPT 1/8 MPST4-M6 4 M6xl0  MPSTS/22-N01 52 NPT 1/8
PGJ16-12 16 12 151002 1 " JsC12N02 n NPT 104 MPT4-01 4 MPTS/32-N02 5/32 NPT 1/4 MPST4-01 4 118 MPSTS/22-N02 532 NPT 1/4
oin Fao T o TR 1 REE MPT4-02 4 MPT1/4-N01 4 NPT 1/8 MPST4-02 4 114 MPST1/4-NO1 114 NPT 1/8
PW) PY] . 1SC10.04 0 " T " =y MPTE-M5 6 MPT1/4-N02 V4 NPT 1/4 MPST6-M5 6 M5xB MPST1/4-N02 114 NPT 1/4
i = o MPTE-M6 6 MEx1.0 MPT1/4-N03 V4 NPT 3/8 MPST6-MG 6 Mxl0  MPSTI/4-ND3 114 NPT 3/8
IsC1203 2 n MPTE-01 6 8 MPT1/4-N04 V4 NPT1/2 MPST6-01 6 118 MPST1/4-N04 114 NPT 1/2
plugeIn Reducer Y Plugdn ¥ B = - MPT6.02 6 14 MPTS/16-ND1 5116 NPT 1/8 MPST6-02 6 114 MPSTS/16-N01 5/16 NPT 1/8
BARBEY=E BARY =@ MPT6-03 6 38 MPT5/16-N02 5/16 NPT 1/4 MPST6-03 6 38 MPST5/16-N02 5/16 NPT 1/4
MPT6-04 6 102 MPTS/16-N032 5/16 NPT 3/8 MPST6-04 6 12 MPSTS/16-N03 516 NPT 3/8
— besizciM] CVPC CVPCF CvPU MPT8-01 ] 178 MPTS/16-N04 5/16 NPT 1/2 MPSTS-01 ] 118 MPSTS/16-N04 516 NPT 1/2
¢ PHISAETH T " m— . i check valve check valve check valve MPT8-02 g 14 MPT/8-N01 e NPT /8 MPST8-02 8 14 MPST3/8-NO1 3/8 NPT1/8
MPT8-03 ] 38 MPT3/8-N02 s NPT 1/4 MPST8.03 ] £V MPST2/8-N02 £V NPT 1/4
& BT B L4 b 2 CUERS MPTB-04 8 1" MPT/8-N03 8 NPT 3/8 MPST8-04 8 12 MPST3/8-N03 38 NPT 3/8
w28 12 8 PAISE:5HG L 516 e ° PY/8 MPT10-01 10 8 MPT3/8-N04 k1] NPT1/2 MPST10:-01 10 118 MPST3/8-N04 38 NPT1/2
Ll 12 10 Bz 2 Eme MPT10-02 10 14 MPT1/2-N01 ”2 NPT 1/8 MPST10-02 10 114 MPST1/2-NO1 12 NPT 1/8
ode j MPT10-03 10 38 MPT1/2-N02 "2 NPT 1/4 MPST10-03 10 318 MPST1/2-N02 12 NPT 1/4
PY PW 201 CVPCA-M5 3 VPCS/32.01 CVPUS/32 532 MPT10-04 10 102 MPT1/2-N03 "2 NPT 3/8 MPST10-04 10 12 MPST1/2-N03 12 NPT 3/8
CVPCA-ME 6 4 vPCi/4-00 4 118 CQVPCFO3-03 38 8 ovPUT/A 174 4 MPT12:-01 12 e MPT1/2-N04 12 NPT 12 MPST12-01 2 18 MPST1/2-ND4 112 NPT1/2
QVPC4-01 6 8 ovPCI/4-02 4 114 CVPCFO4-04 n” 1”7 8 OPUSHE 516 516 MPT12-02 12 14 MPST12-02 12 114
Reducer ¥ QVPCE01 6 8 CVPCS/16-01 516 118 10 ovPUYB 318 8 MPT12-03 12 8 MPST12-03 12 318
VRREZE VPC02 6 4 CVPCS/16-02 516 114 12 wPuI2 12 02 MPT12.04 12 "7 MPST12:04 2 "
| . VP01 8 18 PE/S-03 38 38
T o ovPCa-02 8 4 VP804 38 112
PWEHEA 516 " CvPCIN-03 10 8 P20 12 38
2l i 7l i gx:gg: :g ;Z oVPCIf2-04 172 12 MPMM MPUC e
PW12-10 12 10 PW1/23/8 1 38 :
PKD1/2-3/8-N04 12 £V PKDV23/BNG 112 38 EYRCIE0Y 12 iz
MPCF MPMF MPGJ
PZA e e e Sty
MPMM4 4 MPMMS/32 MPUC MPUCS/32
\ MPMM& '3 MPMM1/4 MPUCe [ MPUC1/4
Union Cross MPMME 3 MPMMS/16 MPUCS i MPUCS/16
BHME D MRS _ LIPORY _ LAY MPMMI0 0 MPNM3/8 MPUCTO 10 MPUCH/S
— ube Size (INCH L e i ! L : ! : k) - MPMM12 12 MPMM1/2 MPUCI2 12 WPUCIR2
Kot MPCF4-M5 4 M58 MPORA2UI0 532 UNF10/32  MPMF4-MS 4 ME:@  MPMES32UI0 582 UNFI0/2  MPGed 6 4 MPG1/4-5/32
MPCF4-M6 4 MEx10  MPCFSAZNDI 532 NPT1/8  MPMF4-M6 4 M6x1.0  MPMFSZNOT 582 NPT1E  MPG4 8 4 MPGIS/16-5/22
MPCF4-01 4 18 MPCREAZNOZ 52 NPT1/4  MPMF401 4 8 MPMFSAZNOZ 582 NPT14  MPGB6 8 6 MPGS/16:1/4
MPCF4-02 4 U4 MPCFU/4NDT i NPTUS  MPMF4-02 4 s MPMFIANOT 114 NPT1/8  MPGIIO4 10 4 MPGRBSA2 38
MPCFG-M5 6 M5B MPCFI/4NI2 i NPTU4  MPMF&MS 6 M58 MPMFI/4NO2 114 NPT14  MPGHDS 0 6 MPGJY/8-1/4 38 14 MPUL o MPUT
MPCF6-MG 6 M6X1.0  MPCFI/4-N03 i NPT3/8  MPMF&-MG 6 MEx1.0  MPMF1/4-NO3 14 NPT3/8  MPGIIOS 10 ] MPGSSHE 38 5116 =
MPCF6-01 6 U8 MPCFI/4-N04 i NPT12  MPMFS01 6 8 MPMFI/4NO4 " NPT1Z  MPGT26 2 3 MPGI1/2:1/4 12 14
PGT \ MPCF6-02 6 14 MPCFSAGND 516 NPT1/8  MPMF6.02 6 U4 MPMFSNGNOT 5016 NPT1E  MPGT2E 2 8 MPGI2EE 12 5116 ps
MPCF6-03 3 8 MPCFSAGNDZ 516 NPT14  MPMFG-03 6 38 MPMFSNGNDZ 5016 NPT14  WPEI210 2 10 MPG1/2-3/8 12 38
d MPCF6-04 6 12 MPCF5/16-N03 5116 NPT3/8 MPMF6-04 6 12 MPMF5/16-NO3 5/16 NPT3/8 Item Code ltem Code CO NTACT US FOR MORE D E-I—AI LES
Reducer s MPCFB-01 8 18 MPCFSAGND4 516 NPT12  MPMFBO1 8 U8 MPMFSNGNOS 5016 NPT1/2 MPUL4 4 MPUL/32 532 MPUTS/32
TERE=R 2Dz MPCFR-02 8 14 MPCR/ENOT 38 NPT1/8  MPMF8-02 8 14 MPMF/SNOT 38 NPT /8 MPULG 6 MPULT/4 14 MPUTI/4 www.ideal-bell.com
\ ; : T MPCFB-03 8 ¥8  MPCR/BNER I NPT14  MPMFB-03 8 38 MPMR/BND2 38 NPT1/4 MPULE 3 MPULS/16 516 MPUTS/16 E-mail sales@ideal-bell.cc
4 POTI/4.532 MPCFB-04 8 12 NPG/BNGZ 3B NPTHE  MPMFB-04 8 Mz MPWRENB 38 NPT3/8 MPULID 10 MPULZ/R s MPUTIO 10 MPUT2/8 all:sales@ideal-bell.com
5 PGTS/16-1/4 MPCF10-01 10 18 MPCF3/8-NO4 38 NPT 1/2 MPMF10-01 10 118 MPMF3/8-N04 3/8 NPT 1/2 MPUL12 12 MPUL1/2 142 MPUT12 12 MPUT1/2
- T = AR MPCF10-02 10 14 MPCRIZNDT n” NPT1/8  MPMF10-02 10 4 MPMFI/ZNDT 1”7 NPT1/B
12 pr— 6 - PET3/85/16 516 MPCFI0-03 10 Y8 MPCRIZNER2 n” NPT1/4  MPMF10-03 10 38 MPMFI/2N02 1”7 NPT1/4
R o = TR o MPCFI0-04 0 14 MPCFIZNG n” NP8 MPMF10-04 2 M2 MPMFI/2NG 1”7 NPT3/B
PETI28 3 12 MPCF12-01 12 Y8 MPCFI2-ND4 n” NPT12  MPMFI2:01 2 18 MPMFI/2:No4 1”7 NPT
RTFAIT 0 m MPCF12-02 12 14 MPMF12-02 12 4
PETI612 12 16 MPCFIZ-03 12 18 MPMF12:03 12 38
MPCFIZ-04 12 114 MPMF12:04 16 12




	可拓折页
	可拓折页2

